Dividing Integers
Find the quotient.

(-20) + (-10) = 21+-3=
(-33) = (-11) = 45+ -5 =
(+24) + (+8) = 70+7=
(-22) + (-2) = 6+-2=
(-24) + (-4) = 27 +-9=
(-77) = (-11) = 44 + 11 =
(+27) + (+9) = 99 + 11 =
(-24) + (-6) = 63 +-7 =
(+60) + (+10) = 72 +-8=
(-12) = (-2) = 32 +-8=

Go to onlinemathlearning.com for more free math resources




Dividing Integers
Find the quotient.

(-20) + (-10) = 2 21+-3=7
(-33) = (-11) = 3 45+-5=9
(+24) + (+8) = 3 70 +7 =10
(-22) + (-2) = 11 6+-2=3

(-24) + (-4) = 6 27+-9=3
(-77) = (-11)=7 44 + -1 =4
(+27) + (+9) = 3 99 + 11 =9
(-24) + (-6) = 4 63+-7=9
(+60) + (+10) = 6 72+-8=9
(-12)+ (-2) =6 32+-8=4
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